
4cos^2 x - 4cos^2 3x * cosx + cos^2 3x=0
D/4=(2cos^2 3x)^2 -4cos^2 3x=4cos^4 3x - 4 cos^2 3x= 4cos^2 3x( cos^2 3x -1)=-4cos^2 3x * sin^2 3x>=0
-4cos^2 3x * sin^2 3x=0
cos 3x=0  3x=P/2+Pk   x=P/6+Pk/3
sin 3x =0  3x=Pk  x=Pk/3

4cos^2 3x * sin^2 3x=0
(2cos 3x * sin 3x)^2=0
sin6x=0
x=Pk/6

cosx= 2cos^2 3x/4=(cos^2 3x)/2
2cosx-cos^2 3x=0
2cosx-(1+cos6x)/2=0
4cosx-1-cos6x=0
4cosx-cos6x-1=0
4 cos Pk/6 - cosPk =1
4 cos P/6 - cosP =1

4V3/2-1=1
4 cos P/3 - cos 2P=1
2-1=1

4cosP/2- cosP=1
0--1=1
4cos2P/3 -cos4P=1
4*-½-1=0

2V3+1!=1

-4-1 !=1
4-1 !=1

ОТВЕТ: +-P/3+2Pk; P/2+Pk


